A. WBC (red curve: median, blue curve: 2.51" and black curve: 97.5")
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. Lymphocyte (red curve: median, blue curve: 2.5" and black curve: 97.5")
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D. Neutrophils (red curve: median, blue curve: 2.5 and black curve: 97.5™)
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C. Monocyte (red curve: median, blue curve: 2.5 and black curve: 97.5t)
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E. Eosinophils (red curve: median, blue curve: 2.5

and black curve: 97.5™, all seasons and gender)
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G. Platelets (red curve: median, blue curve: 2.5" and black curve: 97.5")
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I. Potassium (red curve: median, blue curve: 2.5" and black curve: 97.5t)
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F. Haemoglobin (red curve: median, blue curve: 2.5" and black curve: 97.5%)
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H. Sodium (red curve: median, blue curve: 2.5 and black curve: 97.5™)

- _
=
£
£ 1401 —
g 135 -
2
o _/
m T T T T T T T
12 20 28 36 44 52 6
Age (months)
In dry season
=
Segd—Mm 00—
e 6.0
€ 554
E 50~
=
n 4.5
w
40— —
D_ T T T T T T T
122028 36 44 5260

Age (months)
Male in dry season

Centiles
— 2.5th
— 50th
— 97.5th

Centiles
— 2.5th
— 50th
— 97.5th

g | _—
E Centiles
g4 ___— —o2smh
§ 135 :Z:t:)th
2 .
o /
UJ T 1 1 T T 1 T
12 20 28 36 44 52 60
Age (months)
In wet season
=
©
e 6.0 \ Centiles
ESS — 2.5th
g 0 T T———__  — 50t
7 45 97.5th
D(? 35 T T T T T T T
122028 36 44 52 60

Age (months)
Male in wet season



J. Urea (red curve: median, blue curve: 2.5" and black curve: 97.5™)
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L. AST (red curve: median, blue curve: 2.5" and black curve: 97.5%)
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N. Albumin (red curve: median, blue curve: 2.5" and black curve: 97.5™)
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